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2AM: JI=X&

H: ASSUHE A Vsl (sl sit/sY - s5)

e sNE FSHA A (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
Feel 2Y &3 XI& 40,000 40,000 0

201 ¢ Bt2HH| 30,000 30,000 0
03 SHAI2HHI 30,000 30,000 0
OFeel B SA&t2 8t&3 XA 30,000,000& 30,000
301 LEtE A= 10,000 10,000 0
10 HAIAHIBEAZ 10,000 10,000 0
OFeel 3 SA2 8H&sg X3 10,000,000& 10,000
st RSAE 64,890 77,038 AN12,148
201 dEtEHH| 44,200 44,200 0
01 AtR2t2|d| 29,000 29,000 0
oOYdet=2H| 19,000,000 19,000
o Xz 8,000,000& 8,000
OZ &l 2,000,000& 2,000
02 3524l 15,200 15,200 0
OBZ22YHA 2,000,000& 2,000
O A& &H|I KXl Bl 6,000,000 6,000
O Xt BH| 7,200,000& 7,200
202 o4 4l 8,590 10,738 N2,148
01 2] 8,590 10,738 N2,148
oA=& 8,590, 000& 8,590
203 e R =&H| 3,000 3,000 0
03 Al =RIHRF=AIH| 3,000 3,000 0
OsgIIs=ANd gRFX 1,000,000& 1,000
Osd=2 FSHAHAME YRF& 2,000,000 2,000
206 M= Hl 2,000 2,000 0
01 =4l 2,000 2,000 0
O & Hel SHAFEDIE AlA TH2HI
2,000,000& 2,000
301 YEtB A= 2,100 2,100 0
10 HAIAHIEA 2 2,100 2,100 0
OSesAE MANZEH HOIsIH Ay B4
2,100,000& 2,100
307 2I2t01 A 5,000 5,000 0
02 QIZtF3 a8 5,000 5,000 0
OR+zsd2 HAHA AL 5,000,000& 5,000
SNE AAE6H K& 261,600 216,600 45,000
206 M=t 5,000 5,000 0
01 JHEH| 5,000 5,000 0




FAM: Jl=X3n
Nu: ASEZ0E A ISV (SRASN /5 - 5E)
el sdtE RSHA N (ctel &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OHERZ=HI=0l HYE =2 2H N
5,000, 000& 5,000
301 et A3 2,100 2,100 0
10 HAIAHIEANS 2,100 2,100 0
OZ33HI=01= Y &2 Baz Xa
2,100,000& 2,100
402 QI2t X201 ™ 254,500 209,500 45,000
01 It 22X 254,500 209,500 45,000
O=¢eE SgaHE "E€02n, g8 N
200,000,000& 200,000
ocsz=EcIs TZNH XA 4,500,000& 4,500
O=ES4E AS0HE X 30,000,000& 30,000
OAEE btz ZEHIAHl XA 20,000,000& 20,000
sitE =& ¥ ZIEEE 472,427 326,770 145,657
= 62,900
& 52,537
Al 356,990
SUUSASIAMELA-ASAHL 5,400 5,400 0
= 5,400
202 (44| 1,800 1,800 0
= 1,800
01 =2 A bl 1,800 1,800 0
OsdtE AT A 24 1,800,000& 1,800
= 1,800
301 et2 a3 3,600 3,600 0
= 3,600
12 JIEt243 3,600 3,600 0
O=s&8 ASEA 24 3,600,000& 3,600
= 3,600
s3I HLE 5,000 22,400 217,400
= 3,000
& 1,000
Al 1,000
402 QI2t X201 ™ 5,000 22,400 A 17,400
= 3,000
= 1,000
Al 1,000
01 IZt =28 = 5,000 22,400 A17,400
OsgZagd24de X2 5,000, 000& 5,000
= 3,000
= 1,000
Al 1,000
NE=sHI =823 10,000 10,000 0
= 5,000
Al 5,000




SM: JIEXA D
HEl: ASSHE A8 JZNV (SYHY+M/5L - 52)
S SANS 45 ¥ FYFRS (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
101 Q1214 10,000 10,000 0
= 5,000
Al 5,000
VPN EEP=T=P 10,000 10,000 0
OXNoSs=eIlE ZYF 2 083 012X &
10,000,000 10,000
=2 5,000
Al 5,000
SENTHY X 50,000 0 50,000
= 25,000
Al 25,000
405 Rt &HF SHI 50,000 0 50,000
= 25,000
Al 25,000
01 KAt USEH S| 50,000 0 50,000
ogds MeFYl 2Y 50,000, 0002 50,000
= 25,000
Al 25,000
S42 $EEX SN 26,537 32,480 A5,943
= 26,537
307 212H0| & 26,537 32,480 A5,943
= 26,537
02 IAAMRE 26,537 32,480 A5,943
OsiE $EETNZ N 26,537,0002 26,537
= 26,537
SUAYIEHTAB-LSHE 3,000 3,000 0
= 1,500
Al 1,500
201 L2 Y| 1,000 1,000 0
=2 500
Al 500
01 AFR 2l t] 1,000 1,000 0
OSUAY =T MBS 1,000,0002 1,000
= 500
Al 500
202 04t 1,000 0 1,000
= 500
Al 500
01 2L 01 bl 1,000 0 1,000
OsATY JILEHY A8 1,000,0002 1,000
=2 500
Al 500
301 YR A2 1,000 2,000 A1,000
= 500
Al 500
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SN JIEND
HE: ASSHUE I8 JISNA(SHLLM/5Y - 5E)
N s L EE (25l &2
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OSSHE BE, 228 RUE 7Y
2,000,0002! 2,000
ONES(4TE)AHY E2H X
35,000, 0002 35,000
OSIIEHOIX REX 3,000,0002 3,000
402 212t 20| 20,500 20,500 0
RIS 20,500 20,500 0
OsME HRANHE T N
10,000, 0002 0,000
OFXaJ NSt SHOIX KX B4H X &
7,500,000 7,500
OFKAINH P45 =E= N
3,000,000 3,000
HESIIAY(ZAE)8Y 96,000 0 96,000
= 48,000
Al 48,000
402 212t 20| 9,000 0 96,000
= 48,000
Al 48,000
01 LIAR=EE 96,000 0 96,000
OHETSII PUSIAIY KR 80,000, 0002 80,000
= 40,000
Al 40,000
OAHIMHE AlEAIY T 16,000, 0002 16,000
= 8,000
Al 8,000
MO M A 5,323,922 4,483,110 840,812
= 3,772,511
| 32,125
= 135,336
Al 1,383,950
DEIM RS 129,000 135,000 6,000
= 59,500
Al 69,500
402 212t 20| 129,000 120,000 9,000
= 59,500
Al 69,500
R EEES 129,000 120,000 9,000
OLEE H AXAY 6,000,000 6,000
= 3,000
Al 3,000
OZM2 MAHEY REFT Al
25,000, 0002 25,000
= 7,500
Al 17,500
OJIBIISHY MARS AlY  50,000,0008 50,000
= 25,000




JIE XD
ASEUE 8 e (SHHYS /5 - 5&)
Al OLE M AF (oA
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES e Ofl At ot Hlws2
Al 25,000
O+ SHE ZHBLI(GAP) Al
48,000,000 48,000
= 24,000
Al 24,000
DEM B MACR X4 48,000 84,000 36,000
< 18,000
Al 30,000
402 QI2HXHZO| 48,000 84,000 36,000
= 18,000
Al 30,000
01 U2 X=X 48,000 84,000 36,000
ONBE & MAHK X4 48,000,000 48,000
= 18,000
Al 30,000
HHE YA 40,705 53,040 A12,335
< 13,891
Al 26,814
206 i 2 Hl 22,400 16,640 5,760
= 8,400
Al 14,000
01 24| 22,400 16,640 5,760
OsootdE AR EH| K@ 22,400,000 22,400
= 8,400
Al 14,000
402 RI2HXHZ 0| 18,305 36,400 ~18,095
< 5,491
Al 12,814
01 U= X 18,305 36,400 A 18,095
OB HilE ZSYHMYl XY 18,305,0002 18,305
= 5,491
Al 12,814
ASEFDHNE 2,907,905 2,907,905 0
= 2,907,905
301 YprE AR 2,907,905 2,907,905 0
= 2,907,905
2JIE2 a2 2,907,905 2,907,905 0
ORASBHANE BT 2,907,905,0002 2,907,905
= 2,907,905
JEESMNY-HEI|E 145,000 100,000 45,000
= 72,500
Al 72,500
402 QI+ XHZ 0| 120,000 100,000 20,000
= 60,000
Al 60,000
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202 04t 944 944 0
2 661
Al 283

01 2LH04 ] 944 944 0
OXAS2AXN S MNFASH(HEH) 944,000 944
2 661
Al 283

301 YerE AR 45,492 0 45,492
2 31,845
Al 13,647

12 JIEFE A2 45,492 0 45,492
oxA22NS MNEXEHM 45,492,0002 45,492
2 31,845
Al 13,647

DSESHE I e A-ASHE 17,800 15,700 2,100
2 8,900
Al 8,900

101 Q1 24| 13,000 12,000 1,000
2 6,500
Al 6,500

M4 IIZHME22NEES 13,000 12,000 1,000
OHMERTHA 29 13,000,000 13,000
=2 6,500
Al 6,500

207 1 RoHELH| 1,800 1,400 400
2 900
Al 900

01 R 1,800 0 1,800
OHMNERTA 2K 1,800,000 1,800
2 900
Al 900

301 LErE AR 900 300 600
2 450
Al 450

12 JIEtE A2 900 300 600
OHUNEDET 2 900,000 900
2 450
Al 450

405 Kt AHE S 2,100 2,000 100
2 1,050
Al 1,050

01 ML S E 3 S| 2,100 2,000 100
ORMSO0F HalE 2ET 2Y 2,100,000 2,100
2 1,050
Al 1,050




SH: JIEXA D
HE: ASEHE I8 SNV (STHY LM/ 5 - 55)
CHl: AIZFORE M A (S5l &2
_ — N e —
RA B SA(BH) - NRAY - B 0fl b e HRE2
OS2 TIGHOIY At 30,223 27,208 3,015
= 9,056
Al 21,167
301 YBHE LS 30,223 27,208 3,015
= 9,056
Al 21,167
12 JIEt &2 30,223 27,208 3,015
OOMES TaH24 N 30,223,0002 30,223
= 9,056
Al 21,167
DEI M AFMA 1,087,700 1,004,700 33,000
101 Q1248 3,000 0 3,000
04 JAR22NES S 3,000 0 3,000
oz BPX 3,000,0002 3,000
206 T2 bl 1,000 1,000 0
01 T2t 1,000 1,000 0
OYHE LMY 27 1,000,002 1,000
301 LA 2,000 2,000 0
10 S AFALH| B 4 2 2,000 2,000 0
ODEX MMM B} HAT AHIRA
1,000,000 1,000
OFXS T DS AKX AHIRA
1,000,0002 1,000
307 21201 & 6,000 6,000 0
05 RI2t9IE2 6,000 6,000 0
OTHOHCHYI OB 2B &X 6,000,00024 6,000
402 212t 20| 1,025,700 995,700 30,000
01 UATEEE 1,025,700 995, 700 30,000
ODNEX MMM UEH HI2 N
600,000,0002 600,000
OB 21 ABNE =2 230,000,0002 230,000
O AMOM AZAIM XY 45,000,0008 45,000
o2z BEIl 2Y X 10,000,0002 10,000
OSY YHBLM X 100,000,000 100,000
ORE=FII| 23 X 35,700,0002 35,700
ORWE 0ISEME N 5,000,000 5,000
A= ALY 68,250 83,250 15,000
207 1 PN L HI 1,000 1,000 0
03 Al& el TH| 1,000 1,000 0
Osx2 T2 M 1,000,00024 1,000
402 212t 20| 67,250 82,250 ~15,000
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FAM: Jl=X3n
Hu: ASEUES I8 JIENA(SHHLSM/5Y - 5F)
IRl AZOIE M (el a2
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
01 QItXt=E X 67,250 A 15,000
O=Z THHHAIE 5,250,000& 5,250
ogzuge| MEATHH Al 12,000,000& 12,000
ORcIY MAAIH 10,000, 000& 10,000
OJlsd & THHHAIE 5,000,000& 5,000
Oz NZE & MAH 30,000,000& 30,000
O8EM A=D1 XAA 5,000, 000& 5,000
a4 =413 51,360 51,360
= 25,680
Al 25,680
402 BI2EX20| M 51,360 51,360
= 25,680
Al 25,680
01 QItXt= 8 X 51,360 51,360
OF MHTHHHEX =4 50,400,000& 50,400
= 25,200
Al 25,200
O=3 THHHEXl =4 960,000& 960
L= 480
Al 480
SO ot 2| A" 5,000 5,000
= 2,500
Al 2,500
402 BI2H X201 M 5,000 5,000
= 2,500
Al 2,500
01 QX=X 5,000 5,000
O=% otz 2 2| Al Y 5,000, 000& 5,000
= 2,500
Al 2,500
=208 OHst 750,000 750,000
= 750,000
301 et2 a3 750,000 750,000
= 750,000
12 JIEt243 750,000 750,000
O=AS0I8 CHABHALY 750,000,000& 750,000
= 750,000
EEsME ASEX HEM 13,418 13,418
= 6,709
Al 6,709
301 etE a3 13,418 13,418
L= 6,709
Al 6,709
12 J|Et2 43 13,418 13,418
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S JEXAD
Hu: ASEUE 98 JEX (SHY LM /5 - &)
CHOl: AIFORT M Al CERCE
_ - rSIE[=S =
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
OEZSME ASHA ZESH LA
13,418,000 13,418
= 6,709
Al 6,709
FTA 2= 223l 2,293,855 2,208,916 84,939
= 237,907
2 1,000
| 96,000
= 571,391
Al 1,387,557
P/ RC- B 348,860 272,558 76,302
= 174,430
Al 174,430
201 LBr2 Y| 1,000 0 1,000
= 500
Al 500
01 At 22l 1,000 0 1,000
OEIZE MM X4 1,000,0002 1,000
= 500
Al 500
301 BB A 4,000 5,000 A 1,000
= 2,000
Al 2,000
10 #ALAIH 242 4,000 5,000 A 1,000
OEEZE MM X4 4,000,00024 4,000
= 2,000
Al 2,000
402 Q12 XH2 0| 343,860 267,558 76,302
= 171,930
Al 171,930
01 QAT =R 343,860 267,558 76,302
OEE2E MM X4 133,860, 0002 133,860
= 66,930
Al 66,930
OU-ITOIS SUNBHEALAEY SYAY
60,000, 00024 60,000
= 30,000
Al 30,000
O0tZ STET0IE MaH =2
100,000,0002 100,000
= 50,000
Al 50,000
ODEBE A 5 MASEA AYAY
50,000,000 50,000
= 25,000
Al 25,000
SESMSHMTIE 18,000 74,000 A56,000
= 6,750
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Al 11,250

402 BI 2201 & 18,000 74,000 /56,000

6,750
11,250

=z H

=8x 18,000 74,000 256,000
?D:‘

10,

o

00,000& 10,000

3,750
6,250

= H

8,000, 000& 8,000

3,000
5,000

=z H

=E=sZHX Sz - 723 X2 10,000 40,000 230,000
5,000
5,000

=

402 QI 2tXH201 A 10,000 40,000 230,000

5,000
5,000

=

2L 10,000 40,000 230,000
X AE 220AH 10,000,000& 10,000

5,000
5,000

= H

ANE2H J=Es 44,000 37,600 6,400

16,500
27,500

=

402 QI 2tXH201 A 44,000 37,600 6,400

16,500
27,500

= M

01 BlIZtAi=Ex 44,000 37,600 6,400
OANZ30 NHSHE Mot 2
16,000, 000& 16,000

6,000
10,000

=

oelguiza FF 2 NSHAE

20,000, 000& 20,000
7,500
12,500
O MiD|= AlEE |4 8,000,000 8,000
3,000
5,000

=z H

=

=X2 MBS XA 85,000 85,000 0
35,000
50,000

=z H

307 212tol & 85,000 85,000 0
35,000
50,000

= H




CJl=XE

1
o

R

0x
i

e

2
J2

20
R
J2H

85,000,000&

= M

85,000

85,000

35,000
50,000

85,000

= M

6,400

2,400
4,000

27,200

A 20,800

402 QI Z2tXH201 A

= i

6,400

2,400
4,000

27,200

220,800

T
kA

—
=
N
>

oY M

©
]
o
B
s
0z
z
S
THy

HL
il

= M

6,400
6,400

2,400
4,000

27,200

A 20,800

FTA XIZXE A

Il

8,000
8,000

7,000

1,000

301 LBrB A

Il

8,000
8,000

7,000

1,000

10 AL HI 24

P

8,000

8,000
8,000

7,000

1,000

AMERH HEHXEZ AIEXIR

= H

126,678

60,039
66,639

133,398

N6,720

402 212201 &

= M

126,678

60,039
66,639

126,678

26,400,000

32,980,000

67,298,000

=H oz

= M

126,678

26,400

9,900
16,500
32,980
16,490
16,490
67,298
33,649
33,649

126,678

= H

80,000

40,000
40,000

80,000

402 212+ A= 01 o

= M

80,000

40,000
40,000

80,000

80,000

80,000




FAM: Jl=X3n
MM ASE[HYE

o
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Sl FTA 22 2235 (25l &2
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40
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e
0x
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z
12
20
i
121
o
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0y

OZJ| M&sot2A st NI 80,000,000 80,000
40,000
40,000

= H

el MAEX 24 22,500 20,000 2,500

9,000
13,500

=

402 QI 2tX201 22,500 20,000 2,500

9,000
13,500

=z H

22X 22,500 20,000 2,500
O3gAI<E Szt 22,500,000& 22,500

9,000
13,500

=z H

= DSEAE SUEAY 220,000 475,000 255,000

88,000
39,600
92,400

=N X

402 212201 & 220,000 475,000 A 255,000

88,000
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A JI=X3 L

M ASEUES I8 JIENA(SHHL LM/ 5 - 5&)

ol =108 S0 CERCE
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OAl&ZHIS X I 5,000,0002 5,000
Xt | 7,000,0002 7,000
401 Al EHIZ 20| 10,000 10,000 0
01 Al &t 10,000 10,000 0
OSIIH YUED L ALD AL HY|
10,000,000 10,000
405 XHaHE S| 16,000 16,000 0
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01 QAR =R 133,740 106,680 27,060
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= 3,680
Al 7,360
CEEEIEIP] 48,000,000 48,000
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oCtE XA E )| 36,000,00024 36,000
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Al 24,000
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= 3,750
Al 5,000
402 S12H X201 M 8,750 0 8,750
= 3,750
Al 5,000
01 QItXt=2E X 8,750 0 8,750
OsJIH d&SEX X2 8,750,000& 8,750
= 3,750
Al 5,000

_20_




A JI=X3 L
DS

M HHEAZHI (1=K (JIEHIIEH
chel: ol (a2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
HY2AZU (JI=X ) (IIEHIIE 190,991 161,604 29,387
QA=A 135,291 105,104 30,187
ol 2| 135,291 105,104 30,187
101 eI24d| 135,291 105,104 30,187
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